
 

 

 

 
nghUj;jkhd tpilapd; fPo; NfhbLf. 

1. gpd;tUtdtw;Ws; vJ ghlrhiyr; #oypy; cs;s capUs;s mq;fp MFk;? 
1)fy;  2)khztd;  3)Gj;jfk;  4)Ngdh 

2. vy;yh capuq;fpfSf;Fk; nghJ ,ay;ghf mikahjJ? 

1)tsu;r;rp 2)mirT  3)Rthrk;  4)xspj;njhFg;G 

3. ePupy; fhzg;gLk; Ez;zq;fpfis mtjhdpf;fg; gad;gLk; cgfuzk; vJ? 

1)njhiyfhl;b    2)$l;L EZf;Ff;fhl;b 

3)iftpy;iy     4)mupa ,Utpopad; 

4. ,lk;ngauh tpyq;F vJ? 

1)kPd;   2)ej;ij 3)fly; mdpkdp  4)khd; 

5. Rthr nrad;Kiwapd; NghJ ntsptplg;gLk; thA vJ? 
 

1)fhgdPnuhl;irl;L   2)iejurd; 3)Mfd; 4)xl;rprd;  
  

(5 ××××××× 3 = 15 Gs;spfs;) 
 

,ilntsp epug;Gf. 

(#upa xsp> ePu;> fhgdPnuhl;irl;L> gr;irj; jhtuk;> xspj;njhFg;G) 

___________________________ tspapy; cs;s ___________________________ 

kz;zpy; ,Ue;J cwpQ;rg;gl;l ___________________________ vd;gtw;iw 
gad;gLj;jp czit cw;gj;jp nra;Ak; nrad;Kiw ___________________________ 
vdg;gLk;. 

(5 × 3 = 15 Gs;spfs;) 

rup> gpio ,Lf. 

1. jhtuq;fs; ,lg;ngau;r;rp milAk;.  (  ) 

2. fhgdPnuhl;irl; thA Rz;zhk;G ePiug; ghy;epwkhf;Fk;.  (  ) 

3. Xu; mq;fp Gjpa mq;fpfis cUthf;Fk; nrad;Kiw ,dg;ngUf;fk;  

vdg;gLk;. (  ) 

4. fj;jupr; nrb jw;Nghrzp MFk;.  (  ) 

5. jhtuj;jpy; czT jahupf;Fk; gpujhd gFjp jz;L MFk;.   (  ) 

(5 × 3 = 15 Gs;spfs;) 

 

aho; tyaf; fy;tp mYtyfk; 
myFg; guPl;ir (01) – tpQ;Qhdk ;  

 
juk;:-06 Neuk;:-40 epkplk; ngau;:- ………………………… 



njhlu;G gLj;Jf. 

 
 

 

 

 

(5 × 3 = 15 Gs;spfs;) 

gFjp – II 

 

 

 

 

 

 

 

1) glj;jpy; fhl;lg;gLk; jhtuj;jpy; epfoj;jg;gLk; rkd;ghL ahJ? 

2) jhtuj;jpy; epfo;j;jggLk; glj;jpy; fhl;lg;gLk; capu;r; rkd;ghl;by; gad;gLk; 

rf;jp vJ? 

3) ,r; nrad;Kiwf;Fj; Njitahd ePiu vq;fpUe;J ngWfpd;wJ? 

4) Nkw;gb nrad;Kiwf;fhf jhtu ,iyapy; cs;s epwg;nghUs; ahJ? 

5) ,r; nrad;Kiwapd; Kf;fpaj;Jtk; xd;W jUf? 

(5 × 4 = 20 Gs;spfs;) 

fPNo jug;gl;Ls;s ,izftu;r;Rl;bia G+uzg;gLj;Jf. 

 

 

                      

 

 

 

 

 

 

fpsp> G+id> kz;GO> kPd;> ej;ij 

_______________ 

_______________ 

1.  capuq;fpfspy; rf;jp cw;gj;jp nrad;Kiw 

2. Ez;zq;fpfis mtjhdpf;fg; gad;gLk; cgfuzk; 

3. khiy Neuq;fspy; ,iyfs; $k;GtJ 

4. xspj;njhFg;gpy; gad;gLk; thA 

5. Rthr nrad;Kiwapy; gad;gLk; thA 

fhgdPnuhl;irl;L 

xl;rprd; 

$l;L EZf;Ff;fhl;b 

Rthrk; 

mirT 

(10 × 2 = 20 Gs;spfs;) 

 

……….........

.............____

fhy;fs; cz;L 

ej;ij> kPd;> kz;GO 

………......................

________

nrl;il mw;wJ 

XL cz;L 

kPd; 

kz;GO 

fpsp 

rpwF mw;wJ 

………......................

________

……….........

.............____

……….........

.............____ ……….........

.............____

……….........

.............____……….........

.............____


